Revision 3 Answers


Revision 3 – Working Capital Management
Chapter 8 Working Capital Management

I.
Objectives of Working Capital Management
Answer 1

(a)
Objectives of working capital management:

1.
Profitability and liquidity are usually cited as the twin objectives of working capital management.
2.
The profitability objective reflects the primary financial management objective of maximising shareholder wealth, while liquidity is needed in order to ensure that financial claims on an organisation can be settled as they become liable for payment.

[1 – 2 marks]
Conflict between two objectives:

3.
The two objectives are in conflict because liquid assets such as bank accounts earn very little return or no return, so liquid assets decrease profitability. Liquid assets in fact incur an opportunity cost equivalent either to the cost of short-term finance or to the profit lost by not investing in profitable projects.

[1 – 2 marks]
Trade-off between two objectives:

4.
Whether profitability is a more important objective than liquidity depends in part on the particular circumstances of an organisation. Liquidity may be the more important objective when short-term finance is hard to find, while profitability may become a more important objective when cash management has become too conservative. In short, both objectives are important and neither can be neglected.

[1 mark]
(b)
Objectives and advantages of working capital management:

1.
The objectives of working capital management are often stated to be profitability and liquidity. These objectives are often in conflict, since liquid assets earn the lowest return and so liquidity is achieved at the expense of profitability. However, liquidity is needed in the sense that a company must meet its liabilities as they fall due if it is to remain in business. For this reason cash is often called the lifeblood of the company, since without cash a company would quickly fail. Good working capital management is therefore necessary if the company is to survive and remain profitable.

[2 marks]

Credit management effect:
2.
The fundamental objective of the company is to maximise the wealth of its shareholders and good working capital management helps to achieve this by minimising the cost of investing in current assets. Good credit management, for example, aims to minimise the risk of bad debts and expedite the prompt payment of money due from debtors in accordance with agreed terms of trade. Taking steps to optimise the level and age of debtors will minimise the cost of financing them, leading to an increase in the returns available to shareholders.

[2 marks]

Stock management effect:
3.
A similar case can be made for the management of stock. It is likely that Velm plc will need to have a good range of stationery and office supplies on its premises if customers’ needs are to be quickly met and their custom retained. Good stock management, for example using techniques such as the economic order quantity model, ABC analysis, stock rotation and buffer stock management can minimise the costs of holding and ordering stock. The application of just-in-time methods of stock procurement and manufacture can reduce the cost of investing in stock. Taking steps to improve stock management can therefore reduce costs and increase shareholder wealth.

[2 marks]

Other example:
4.
Cash budgets can help to determine the transactions need for cash in each budget control period, although the optimum cash position will also depend on the precautionary and speculative need for cash. Cash management models such as the Baumol model and the Miller-Orr model can help to maintain cash balances close to optimum levels.
[1 mark]
The different elements of good working capital management therefore combine to help the company to achieve its primary financial objective.
II.
Cash Operating Cycle

	1.
	C
	

	2.
	B
	The operating cash cycle is:

8 + 2 + 3 + 4 – 6 = 11 weeks
Option A takes the period from purchase on credit to sale on credit

2 + 3 + 4 = 9 weeks
Option C does not deduct any period for trade credit.

8 + 2 + 3 + 4 = 17 weeks
Option D adds the period for trade credit.

8 + 2 + 3 + 4 + 6 = 23 weeks

	3.
	B
	The operating cash cycle is average stock turnover period + average debt collection period – average creditor payment period.

	4.
	A
	The operating cash cycle is: 5 + 1 + 2 + 3 – 4 = 7 weeks

	5.
	A
	The length of the operating cycle is 52 + 42 + 30 – 66 + 45 = 103 days

	6.
	B
	Receivables collection period = 514/3,074 x 365 days = 61 days

Inventory turnover period = 160/1,884 x 365 days = 31 days

Payables payment period = 325/1,884 x 365 days = 63 days

Cash cycle = 61 + 31 – 63 = 29 days

The other choices involve using the incorrect numerators and denominators to calculate the collection, turnover and payment periods.

	7.
	C
	Receivables paying sooner will reduce receivables days and hence reduce the length of the cash operating cycle. The cost of the discount (approximately 2% per month as they pay a month earlier than usual) outweighs the interest saved on the overdraft (at 10% per annum this is less than 1% per month) hence the net effect will be reduced profit.


II.
Working Capital Ratio
	8.
	C
	Non-current assets = $50m/2·4 = $20·8m

Current assets = $20·8m/0·8 = $26m

Current liabilities = £26m

Current assets (less inventory) = 0·6 x $26m = $15·6m

Inventory = $26m – $15·6m = $10·4m
Option A multiplies the sales by sales:non-current asset ratio

Non-current assets = $50m x 2·4 = $120m

Current assets = $120m/0·8 = $150m

Current liabilities = $150m

Current assets (less inventory) = 0·6 x $150m = $90m

Inventory = $150m – $90m = $60m
Option B multiplies sales by sales:non-current assets ratio and the non-current assets by the non-current assets:current assets ratio

Non-current assets = $50m x 2·4 = $120m

Current assets = $120m x 0·8 = $96m

Current liabilities = $96m

Current assets (less inventory) = 0·6 x $96m = $57·6m

Inventory = $96m – $57·6m = $38·4m
Option C is correct.

Option D multiplies the non-current assets by the non-current assets:current assets ratio.

Non-current assets = $50m/2·4 = $20·8m

Current assets = $20·8m x 0·8 = $16·6m

Current liabilities = $16·6m

Current assets (less inventory) = 0·6 x $16·6m = $10·0m

Inventory = $16m – $10·0m = $6·0m

	9.
	B
	(216 + 42) / (180 + 60) = 1.08

	10.
	A
	$

Raw materials costs = $2.5m × 10%

250,000

Labour = $2.5m × 15%

375,000

Overheads = $2.5m × 5%

125,000

Cost of sales

750,000

Finished goods $750,000 × 2/52

28,846

Distracters

B = $250,000 × 2/52 = 9,615

C = $750,000 × 4/52 = 57,962

D = $(250,000 + 375,000) × 2/52 = 24,038



	11.
	D
	Receivables = $2.5m × 6/52 = $288,462

Distracters

A = $2·5m × 8/52 = 384,615

B = $750,000 × 6/52 = 86,538

C = $750,000 × 8/52 = 115,385

	12.
	B
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	13.
	D
	Overtrading often occurs with young, successful, fast growing businesses. Cash being received from sales made a while ago (which were relatively low if the business is growing quickly) is insufficient to finance current production levels if growth is excessive. The result is a strain on cash flows, even if the business is technically profitable. Option B describes over-capitalisation.

	14.
	B
	A long inventory holding period suggests high levels of inventory, which is consistent with a company having more resources than necessary.

	15.
	C
	

	16.
	B
	Excessive investment in current assets can lead to a high inventory holding period and low sales to working capital ratio.

	17.
	B
	Statement 1 is true. Statement 2 is false. The debt-to-equity ratio reflects the mix of capital rather than the total capital invested.

	18.
	A
	Current assets (£30m/5) = $6m

Current liabilities = $6m/2 = $3m

Quick assets = 1·5 x $3m = $4·5m

Stocks = $6m – $4·5m = $1·5m

Option B takes the stock as the difference between the current assets and current liabilities $6m – $3m = $3m.

Option C takes the stock as equal to the quick assets ($4·5m).

Option D adds the current assets to the quick assets to derive the stock figure ($6·0m + $4·5m) = $10·5m.

	19.
	A
	Current assets = $20m/4 = $5m

Current liabilities = $5m/2·5 = $2m

$5m – Inventory/$2m = 2

Therefore, inventory = $1m
B: is current assets less current liabilities = $3m

C: is quick assets = $4m

D: is current assets add inventory = $6m

	20.
	D
	The quick ratio = Current assets (less inventories)/Current liabilities.

If some inventory is sold on credit, all else being equal receivables (current assets) will increase, so the quick ratio will increase.

The current ratio = Current assets/Current liabilities. Inventory and receivables are both current assets. However as the inventory is sold at a profit, the increase in receivables will be more than the decrease in inventory, the net effect being an increase in current assets, hence the current ratio will increase.

	21.
	C
	The current liabilities figures used as the denominator will stay the same in both cases. The total of the current assets will decrease the reduction in the inventory value will be greater than the increase in cash. Therefore the current ratio will decrease. The total of the liquid assets will increase because of the higher cash balance. Therefore the quick ratio will increase.


Answer 2
(a)

Financial analysis

Fixed interest debt proportion (2006) = 100 x 2,425/ (2,425 + 1,600) = 60%

Fixed interest debt proportion (2007) = 100 x 2,425/(2,425 + 3,225) = 43%

Fixed interest payments = 2,425 x 0·08 = $194,000

Variable interest payments (2006) = 274 – 194 = $80,000 or 29%

Variable interest payments (2007) = 355 – 194 = $161,000 or 45%
(Alternatively, considering the overdraft amounts and the average variable overdraft interest rate of 5% per year:

Variable interest payments (2006) = 1·6m x 0·05 = $80,000 or 29%

Variable interest payments (2007) = 3·225m x 0·05 = $161,250 or 45%)

Interest coverage ratio (2006) = 2,939/ 274 = 10·7 times

Interest coverage ratio (2007) = 2,992/ 355 = 8·4 times

Debt/equity ratio (2006) = 100 x 2,425/ 11,325 = 21%

Debt/equity ratio (2007) = 100 x 2,425/ 12,432 = 20%

Total debt/equity ratio (2006) = 100 x (2,425 +1,600)/ 11,325 = 35%

Total debt/equity ratio (2007) = 100 x (2,425 +3,225)/ 12,432 = 45%

[1 – 2 marks]
Discussion of effects of interest rate increase:
1.
Gorwa Co has both fixed interest debt and variable interest rate debt amongst its sources of finance. The fixed interest bonds have ten years to go before they need to be redeemed and they therefore offer Gorwa Co long term protection against an increase in interest rates.
2.
In 2006, 60% of the company’s debt was fixed interest in nature, but in 2007 this had fallen to 43%.
3.
The floating-rate proportion of the company’s debt therefore increased from 40% in 2006 to 57% in 2007.
4.
The interest coverage ratio fell from 10·7 times in 2006 to 8·4 times in 2007, a decrease which will be a cause for concern to the company if it were to continue.
5.
The debt/equity ratio (including the overdraft due to its size) increased over the same period from 35% to 45% (if the overdraft is excluded, the debt/equity ratio declines slightly from 21% to 20%).
6.
From the perspective of an increase in interest rates, the financial risk of Gorwa Co has increased and may continue to increase if the company does not take action to halt the growth of its variable interest rate overdraft. The proportion of interest payments linked to floating rate debt has increased from 29% in 2006 to 45% in 2007. An increase in interest rates will further reduce profit before taxation, which is lower in 2007 than in 2006, despite a 40% increase in turnover.


[3 – 4 marks]
Interest rate hedging:

1.
One way to hedge against an increase in interest rates is to exchange some or all of the variable-rate overdraft into long-term fixed-rate debt. There is likely to be an increase in interest payments because long-term debt is usually more expensive than short-term debt. Gorwa would also be unable to benefit from falling interest rates if most of its debt paid fixed rather than floating rate interest.
2.
Interest rate options and interest rate futures may be of use in the short term, depending on the company’s plans to deal with its increasing overdraft.
3.
For the longer term, Gorwa Co could consider raising a variable-rate bank loan, linked to a variable rate-fixed interest rate swap.

[2 – 3 marks]
(b)

Financial analysis
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[5 – 6 marks]
Discussion

1.
Overtrading or undercapitalisation arises when a company has too small a capital base to support its level of business activity. Difficulties with liquidity may arise as an overtrading company may have insufficient capital to meet its liabilities as they fall due.
2.
Overtrading is often associated with a rapid increase in turnover and Gorwa Co has experienced a 40% increase in turnover over the last year. Investment in working capital has not matched the increase in sales, however, since the sales/net working capital ratio has increased from 26·7 times to 30·5 times.
3.
Overtrading could be indicated by a deterioration in inventory days. Here, inventory days have increased from 37 days to 49 days, while inventory has increased by 92% compared to the 40% increase in turnover. It is possible that inventory has been stockpiled in anticipation of a further increase in turnover, leading to an increase in operating costs.
4.
Overtrading could also be indicated by deterioration in receivables days. In this case, receivables have increased by 109% compared to the 40% increase in turnover. The increase in turnover may have been fuelled in part by a relaxation of credit terms.
5.
As the liquidity problem associated with overtrading deepens, the overtrading company increases its reliance on short-term sources of finance, including overdraft, trade payables and leasing. The overdraft of Gorwa Co has more than doubled in size to $3.225 million, while trade payables have increased by $2·74 million or 137%. Both increases are much greater than the 40% increase in turnover. There is evidence here of an increased reliance on short-term finance sources.
6.
Overtrading can also be indicated by decreases in the current ratio and the quick ratio. The current ratio of Gorwa Co has fallen from 1·3 times to 1·15 times, while its quick ratio has fallen from 0·61 times to 0·58 times.

[4 – 5 marks]

Conclusion:
There are clear indications that Gorwa Co is experiencing the kinds of symptoms usually associated with overtrading. A more complete and meaningful analysis could be undertaken if appropriate benchmarks were available, such as key ratios from comparable companies in the same industry sector, or additional financial information from prior years so as to establish trends in key ratios.
[1 mark]
(c)

Current receivables = $4,600,000

Receivables under factor = 37,400,000 x 30/365 = $3,074,000

Reduction in receivables = 4,600 – 3,074 = $1,526,000

Reduction in finance cost = 1,526,000 x 0·05 = $76,300 per year
[2 marks]
Administration cost savings = $100,000 per year
[0.5 mark]
Bad debt savings = $350,000 per year
[0.5 mark]
Factor’s annual fee = 37,400,000 x 0·03 = $1,122,000 per year
[1 mark]
Extra interest cost on advance = 3,074,000 x 80% x (7% – 5%) = $49,184 per year

[2 marks]
Net cost of factoring = 76,300 + 100,000 + 350,000 – 1,122,000 – 49,184 = $644,884

[1 mark]
The factor’s offer cannot be recommended, since the evaluation shows no financial benefit arising.
[1 mark]
Answer 3

(a)(i)

The current operating cycle is the sum of the current inventory days and trade receivables days, less the current trade payables days.

Current inventory days = (473,400/2,160,000) x 365 = 80 days
[0.5]
Current trade receivables days = (1,331,500/5,400,000) x 365 = 90 days
[0.5]
Current trade payables days = (177,500/2,160,000) x 365 = 30 days
[0.5]
Current operating cycle = 80 + 90 – 30 = 140 days
[0.5]
Operating cycle after policy changes = 50 + 62 – 45 = 67 days
[0.5]
The change in the operating cycle is therefore a decrease of 73 days.
[0.5]
(a)(ii)

At present, the current ratio is 1,804,900/1,504,100 = 1·20 times.
[0.5]
The current net working capital is $300,800.

The revised figures for inventory, trade receivables, trade payables and overdraft must be calculated in order to find the current ratio after the planned working capital policy changes.

Revised inventory = 2,160,000 x 50/365 =$295,890
[0.5]
Revised trade receivables = 5,400,000 x 62/365 = $917,260
[0.5]
Revised trade payables = $2,160,000 x 45/365 = $266,301
[0.5]
Revised overdraft level = 295,890 + 917,260 – 266,301 – 300,800 = $646,049
[0.5]
Revised current assets = 295,890 + 917,260 = $1,213,150
Revised current liabilities = 266,301 + 646,049 = $912,350
Revised current ratio = 1,213,150/912,350 = 1·33 times
[0.5]
The effect on the current ratio is to increase it from 1·20 to 1·33 times.
(a)(iii)

The finance cost saving arises from the decrease in the overdraft from $1,326,600 to $646,049, a reduction of $680,551, with a saving of 5% per year or $34,028 per year.
[2]
(b)

The key elements of a trade receivables policy are credit analysis, credit control and receivables collection.
Credit analysis

Credit analysis helps a company to minimise the possibility of bad debts by offering credit only to customers who are likely to pay the money they owe. Credit analysis also helps a company to minimise the likelihood of customers paying late, causing the company to incur additional costs on the money owed, by indicating which customers are likely to settle their accounts as they fall due.
Credit analysis, or the assessment of creditworthiness, is undertaken by analysing and evaluating information relating to a customer’s financial history. This information may be provided by trade references, bank references, the annual accounts of a company or credit reports provided by a credit reference agency. The depth of the credit analysis will depend on the potential value of sales to the client, in terms of both order size and expected future trading. As a result of credit analysis, a company will decide on whether to extend credit to a customer.

[2 – 3 marks]
Credit control

Having granted credit to customers, a company needs to ensure that the agreed terms are being followed. The trade receivables management policy will stipulate the content of the initial sales invoice that is raised. It will also advise on the frequency with which statements are sent to remind customers of outstanding amounts and when they are due to be paid. It will be useful to prepare an aged receivables analysis at regular intervals (e.g. monthly), in order to focus management attention on areas where action needs to be taken to encourage payment by clients.

[2 – 3 marks]
Receivables collection

Ideally, all customers will settle their outstanding accounts as and when they fall due. Any payments not received electronically should be banked quickly in order to decrease costs and increase profitability. If accounts become overdue, steps should be taken to recover the outstanding amount by sending reminders, making customer visits and so on. Legal action could be taken if necessary, although only as a last resort.
[2 – 3 marks]
Chapter 9 Managing Inventory, Accounts Receivable and Accounts Payable
I.
Inventory

	1.
	B
	To ensure a buffer stock of 200 units, the company must order when stock levels are at 680 units to allow for maximum lead times and usage [i.e. (40 units x 12) + 200 units]. When the lead time and consumption are at minimum levels, the consumption during the lead time is 2 x 25 units = 50 units. This will reduce the stock level to 680 – 50 = 630 units. At that point a new delivery is made (400 units) and so the maximum no. of units held is (630 + 400) = 1,030 units.
Option A uses the reorder level plus the EOQ quantity (680 + 400) = 1,080

Option C uses the minimum usage and lead times in calculating the re-order level = 250 units (2 x 25 units) + 200 units). When the lead time and consumption are at minimum levels, the consumption during the lead time is 2 x 25 units = 50 units. This will reduce the stock level to 250 – 50 = 200 units. At that point a new delivery is made (400 units) and so the maximum no. of units held is (200 + 400) = 600 units.
Option D adds the buffer stock (200) to the EOQ (400) and deducts the minimum usage rates and lead time (50) = 550 units.

	2.
	B
	

	3.
	B
	Options 1 and 3 are correct. The selling price and purchase price of goods do not feature in the model.

	4.
	C
	Manufacturing to order makes production scheduling inherently difficult as production levels are more difficult to plan for.

	5.
	D
	(i) is incorrect since holding costs decrease, not increase

	6.
	B
	Inventory shortages are the most likely problem with a JIT inventory ordering system.

	7.
	C
	A just in time inventory control system aim to reduce capital tied up in inventory, not increase it (A). The system aims to create a flexible production process which is responsive to the customer’s requirements, not an inflexible process (B). With a just in time system, although inventory holding costs are close to zero, inventory ordering costs are high, not low (D).

	8.
	B
	The total annual cost is [(25,000/500) x $10] + [(500/2) x $2] + $100,000 = $101,000
Option A takes account of the holding costs only [(500/2) x $2] + $100,000 = $100,500
Option C does not take an average figure for the number of units in stock

[(25,000/500) x $10] + [500 x $2] + £100,000 = $101,500
Option D divides the total cost of the stocks by the EOQ rather than the number of stocks.

[(100,000/500) x $10] + [(500/2) x $2] + $100,000 = $102,500

	9.
	B
	When the lead time and consumption is at minimum levels, the consumption during the lead time is 2 x 20 units = 40 units.

This will reduce the stock level to 500 – 40 = 460 units. At that point a new delivery is made (650 units) and so the maximum no. of units held is (460 + 650) = 1,110 units.
Option A uses the reorder level plus the EOQ quantity (500 + 650) = 1,150
Option C uses the average usage (5 x 25 units) during the lead time. This gives [(500 – 125) + 650] = 1,025 units
Option D uses the maximum usage (10 x 50 units) during the lead time. This gives [500 – (10 x 50) + 650] = 650 units

	10.
	A
	EOQ = √(2 x 40 x 30,000)/0·6 = 2,000 units

Total cost = {[(30,000/2,000) x $40] + [(2,000/2) x $0·6]} = $1,200

Option B does not take an average when deriving the stockholding cost

Total cost = {[(30,000/2,000) x $40] + [2,000 x $0·6]} = $1,800

Option C uses an incorrect EOQ formula

[√(2 x 0·6 x 30,000)/40] = 30 units

Total cost = {[(30,000/30) x $40] + [(2,000/2) x $0·6]} = $40,600

Option D uses an incorrect EOQ formula and does not take an average of the stockholding cost

√(2 x 0·6 x 30,000)/40 = 30 units

Total cost = {[(30,000/30) x $40] + [(2,000 x $0·6]} = $41,200

	11.
	C
	The total annual cost is [(80,000/1,600) x $12] + [{10,000 + (1,600/2)} x $6] = $65,400

Option A ignores the cost of holding buffer stock [(80,000/1,600) x $12] + [(1,600/2) x $6] = $5,400

Option B ignores the buffer stock and fails to take an average figure for the number of units in stock (exc. buffer stock) [(80,000/1,600) x $12] + [1,600 x $6] = $10,200

Option D does not take an average figure for the number of units in stock (exc. buffer stock) [(80,000/1,600) x $12] + [(10,000 + 1,600) x $6] = $70,200

	12.
	C
	The total annual cost is [(60,000/1,200) x $15] + [(1,200/2) x $3] + $360,000= $362,550

	13.
	B
	Equity ($500,000/10%) = $5m

Non-current liabilities ($5m x 2) = $10m

Net assets (NCL + E) = $15m

Current assets ($15m/3) = $5m

Inventory (($5m – ($5m x 0·8)) = $1m

	14.
	B
	Total cost = Annual purchase costs + annual ordering cost + annual holding cost.

Annual purchase cost = 10,000 units × $2 = $20,000

Annual ordering cost = number of orders × cost per order = (10,000/250) × $50 = $2,000

Annual holding cost = Average inventory level × cost to hold per unit per annum = [(250/2) + 50] × $1.25 = $218.75

Total cost = $20,000 + $2,000 + $218.75 = $22,218.75 = $22,219 (to nearest $).


Answer 4
(a)

The objectives of working capital management are profitability and liquidity. The objective of profitability supports the primary financial management objective, which is shareholder wealth maximisation. The objective of liquidity ensures that companies are able to meet their liabilities as they fall due, and thus remain in business.

[1 mark]
However, funds held in the form of cash do not earn a return, while near-liquid assets such as short-term investments earn only a small return. Meeting the objective of liquidity will therefore conflict with the objective of profitability, which is met by investing over the longer term in order to achieve higher returns.
Good working capital management therefore needs to achieve a balance between the objectives of profitability and liquidity if shareholder wealth is to be maximised.

[2 marks]
(b)

Cost of current ordering policy of PKA Co

Ordering cost = €250 x (625,000/100,000) = €1,563 per year

Weekly demand = 625,000/50 = 12,500 units per week

Consumption during 2 weeks lead time = 12,500 x 2 = 25,000 units

Buffer stock = re-order level less usage during lead time = 35,000 – 25,000 = 10,000 units

Average stock held during the year = 10,000 + (100,000/2) = 60,000 units

Holding cost = 60,000 x €0·50 = €30,000 per year

Total cost = ordering cost plus holding cost = €1,563 + €30,000 = €31,563 per year

[3 marks]
Economic order quantity = ((2 x 250 x 625,000)/0·5)1/2 = 25,000 units

Number of orders per year = 625,000/25,000 = 25 per year

Ordering cost = €250 x 25 = €6,250 per year

Holding cost (ignoring buffer stock) = €0·50 x (25,000/2) = €0·50 x 12,500 = €6,250 per year

Holding cost (including buffer stock) = €0·50 x (10,000 + 12,500) = €11,250 per year

Total cost of EOQ-based ordering policy = €6,250 + €11,250 = €17,500 per year

[3 marks]
Saving for PKA Co by using EOQ-based ordering policy = €31,563 – €17,500 = €14,063 per year.
[1 mark]
(c)

The information gathered by the Financial Manager of PKA Co indicates that two areas of concern in the management of domestic accounts receivable are the increasing level of bad debts as a percentage of credit sales and the excessive credit period being taken by credit customers.
Reducing bad debts

1.
The incidence of bad debts, which has increased from 5% to 8% of credit sales in the last year, can be reduced by assessing the creditworthiness of new customers before offering them credit and PKA Co needs to introduce a policy detailing how this should be done, or review its existing policy, if it has one, since it is clearly not working very well.
2.
In order to do this, information about the solvency, character and credit history of new clients is needed. This information can come from a variety of sources, such as bank references, trade references and credit reports from credit reference agencies. Whether credit is offered to the new customer and the terms of the credit offered can then be based on an explicit and informed assessment of default risk.

[3 – 4 marks]
Reduction of average accounts receivable period

1.
Customers have taken an average of 75 days credit over the last year rather than the 30 days offered by PKA Co, i.e. more than twice the agreed credit period. As a result, PKA Co will be incurring a substantial opportunity cost, either from the additional interest cost on the short-term financing of accounts receivable or from the incremental profit lost by not investing the additional finance tied up by the longer average accounts receivable period. PKA Co needs to find ways to encourage accounts receivable to be settled closer to the agreed date.
2.
Assuming that the credit period offered by PKA Co is in line with that of its competitors, the company should determine whether they too are suffering from similar difficulties with late payers. If they are not, PKA Co should determine in what way its own terms differ from those of its competitors and consider whether offering the same trade terms would have an impact on its accounts receivable. For example, its competitors may offer a discount for early settlement while PKA Co does not and introducing a discount may achieve the desired reduction in the average accounts receivable period.
3.
If its competitors are experiencing a similar accounts receivable problem, PKA Co could take the initiative by introducing more favourable early settlement terms and perhaps generate increased business as well as reducing the average accounts receivable period.
4.
PKA Co should also investigate the efficiency with which accounts receivable are managed. Are statements sent regularly to customers? Is an aged accounts receivable analysis produced at the end of each month? Are outstanding accounts receivable contacted regularly to encourage payment? Is credit denied to any overdue accounts seeking further business? Is interest charged on overdue accounts? These are all matters that could be included by PKA Co in a revised policy on accounts receivable management.

[3 – 4 marks]

Answer 5

(a)

Calculation of net cost/benefit

Current receivables = $2,466,000

Receivables paying within 30 days = 15m × 0·5 × 30/365 = $616,438

Receivables paying within 45 days = 15m × 0·3 × 45/365 = $554,795

Receivables paying within 60 days = 15m × 0·2 × 60/365 = $493,151

Revised receivables = 616,438 + 554,795 + 493,151 = $1,664,384
[1]
Reduction in receivables = 2,466,000 – 1,664,384 = $801,616
[1]
Reduction in financing cost = 801,616 × 0·06 = $48,097
[1]
Cost of discount = 15m × 0·5 × 0·01 = $75,000
[1]
Net cost of proposed changes in receivables policy = 75,000 – 48,097 = $26,903
[1]
Alternative approach to calculation of net cost/benefit

Current receivables days = (2,466/15,000) × 365 = 60 days

Revised receivables days = (30 × 0·5) + (45 × 0·3) + (60 × 0·2) = 40·5 days

Decrease in receivables days = 60 – 40·5 = 19·5 days

Decrease in receivables = 15m x 19·5/365 = $801,370

(The slight difference compared to the earlier answer is due to rounding)

Decrease in financing cost = 801,370 × 0·06 = $48,082

Net cost of proposed changes in receivables policy = 75,000 – 48,082 = $26,918

Comment

The proposed changes in trade receivables policy are not financially acceptable. However, if the trade terms offered are comparable with those of its competitors, KXP Co needs to investigate the reasons for the (on average) late payment of current customers. This analysis also assumes constant sales and no bad debts, which is unlikely to be the case in reality.

[1]

(b)

Cost of current inventory policy

Cost of materials = $540,000 per year

Annual ordering cost = 12 × 150 = $1,800 per year
[0.5]
Annual holding cost = 0·24 × (15,000/2) = $1,800 per year
[0.5]
Total cost of current inventory policy = 540,000 + 1,800 + 1,800 = $543,600 per year
[1]
Cost of inventory policy after bulk purchase discount

Cost of materials after bulk purchase discount = 540,000 × 0·98 = $529,200 per year
[0.5]
Annual demand = 12 × 15,000 = 180,000 units per year

KXP Co will need to increase its order size to 30,000 units to gain the bulk discount

Revised number of orders = 180,000/30,000 = 6 orders per year
[0.5]
Revised ordering cost = 6 × 150 = $900 per year
[0.5]
Revised holding cost = 0·24 × (30,000/2) = $3,600 per year
[0.5]
Revised total cost of inventory policy = 529,200 + 900 + 3,600 = $533,700 per year

Evaluation of offer of bulk purchase discount

Net benefit of taking bulk purchase discount = 543,600 – 533,700 = $9,900 per year
[1]
The bulk purchase discount looks to be financially acceptable. However, this evaluation is based on a number of unrealistic assumptions. For example, the ordering cost and the holding cost are assumed to be constant, which is unlikely to be true in reality. Annual demand is assumed to be constant, whereas in practice seasonal and other changes in demand are likely.

[1]
(c)

The following factors should be considered in determining the optimum level of cash to be held by a company, for example, at the start of a month or other accounting control period.
The transactions need for cash

The amount of cash needed for the next period can be forecast using a cash budget, which will net off expected receipts against expected payments. This will determine the transactions need for cash, which is one of the three reasons for holding cash.

[1 – 2 marks]
The precautionary need for cash

Although a cash budget will provide an estimate of the transactions need for cash, it will be based on assumptions about the future and will therefore be subject to uncertainty. The actual need for cash may be greater than the forecast need for cash. In order to provide for any unexpected need for cash, a company can include some spare cash (a cash buffer) in its cash balance. This is the precautionary need for cash. In determining the optimal level of cash to be held, a company will estimate the size of this cash buffer, for example from past experience, because it will be keen to minimise the opportunity cost of maintaining funds in cash form.

[1 – 2 marks]
The speculative need for cash

There is always the possibility of an unexpected opportunity occurring in the business world and a company may wish to be prepared to take advantage of such a business opportunity if it arises. It may therefore wish to have some cash available for this purpose. This is the speculative need for cash. Building ‘a war chest’ for possible company acquisitions reflects this reason for holding cash.
[1 – 2 marks]
The availability of finance

A company may choose to hold higher levels of cash if it has difficulty gaining access to cash when it needs it. For example, if a company’s bank makes it difficult to access overdraft finance, or if a company is refused an overdraft facility, its precautionary need for cash will increase and its optimum cash level will therefore also increase.
[1 – 2 marks]
(d)

The factors to be considered in formulating a trade receivables policy relate to credit analysis, credit control and receivables collection.
Credit analysis

In offering credit, a company must consider that it will be exposed to the risk of late payment and the risk of bad debts. To reduce these risks, the company will assess the creditworthiness of its potential customers. In order to do this, the company needs information, which can come from a variety of sources, such as trade references, bank references, credit reference agencies, published accounts and so on. As a result of assessing the creditworthiness of customers, a company can decide on the amount of credit to offer, the credit terms to offer, or whether to offer credit at all.

[2 – 3 marks]
Credit control

Having extended credit to customers, a company needs to consider ways to ensure that the terms under which credit was granted are followed. It is important that customers settle outstanding accounts on time and keep to agreed credit limits. Factors to consider here are, therefore, the number of overdue accounts and the amount of outstanding cash. This information can be provided by an aged receivables analysis.
Another factor to consider is that customers need to be made aware of the amounts outstanding on their accounts and reminded when payment is due. This can be done by providing regular statements of account and by sending reminder letters when payment is due.

[2 – 3 marks]
Receivables collection

Cash received needs to be banked quickly if payment is not made electronically by credit transfer. Overdue accounts must be followed up in order to assess the likelihood of payment and to determine what further action is needed. In the worst cases, legal steps may need to be taken in order to recover outstanding amounts.
[1 – 2 marks]
A key factor to consider here is that the benefit gained from chasing overdue amounts must not exceed the costs incurred.
[1 – 2 marks]
Answer 6
(a)

Improvement in first year profit before tax attributable to the JIT agreement
[image: image3.emf]
The JIT arrangement appears to be worthwhile in profit terms.
Other considerations

However, the expected value figure conceals the risk of adverse results if the company fails to meet delivery guarantees: the 'worst case' scenario in one year is that a penalty of $420,000 is payable (more than 5% of operating profit). The directors should make sure that the company is insured against all the normal risks outside its direct control (eg fire, theft, flood) and also invest in a total quality programme to underpin the JIT arrangement by eliminating any defective output.
(b)

Advantages of JIT:

· Eliminate waste at all stages of the manufacturing process – it can be achieved by improved workflow planning, quality control and long-term contracts between buyer and supplier.

· Stronger relationship with supplier – this offers security to the supplier who benefits from regular orders, continuing future business and more certain production planning. The buyer may also benefit from bulk purchase discounts or lower purchase costs.

· Emphasis on quality control – it can reduce scrap, reworking and set-up costs. The result is a smooth flow of material and work through the production system, with no queues or idle time.

Disadvantages of JIT:

· May not run as smoothly in practice as theory may predict – because there may be little room for manoeuver in the event of unforeseen delays. For example, there is little room for error on delivery time.

· Heavily depend on the supplier for maintaining the quality of delivered materials and components – if the quality is not up to standard, expensive downtime may arise.

· Not easy to find alternative supplier – especially in short-time.

· Not all businesses are appropriate to apply JIT, such as restaurant and hospital.


(7 marks)
II.
Accounts receivable
	15.
	C
	$

Current receivables ($1.2m/12)

100,000

New receivables ($1.2m × 1.25/6)

250,000

Increase in receivables

150,000

Finance cost of increase at 10%

15,000
Net profit increase

45,000

Overall increase in profit

30,000



	16.
	B
	The current collection period is 4/20 × 365 = 73 days

Therefore a reduction to 60 days would be a reduction of 13 days

Hence 13/365 × $20m = $712,329 reduction in receivables.

Finance cost saving = $712,329 × 12% = $85,479

Cost of discount = 1% × $20 million = $200,000 per annum

Net cost = $200,000 – $85,479 = $114,521

	17.
	D
	

	18.
	D
	Both statements are incorrect. Unlike a debt factor, an invoice discounter does not have any involvement with the management of receivables that have been used as loan security.

	19.
	D
	Bad debt insurance is provided by a non-recourse factoring arrangement. Factors also provide administrative services such as managing the receivables ledger and the collection procedures. Factors can also lend money using the receivables ledger as security so they are also a potential source of finance.

	20.
	D
	Commercial paper is a source of finance and not directly applicable to the management of foreign debts.

	21.
	B
	Discount as a percentage of amount paid = 2 / 98 = 2.04%.

Saving is 60 days (60 – 0) and there are 365 / 60 = 6.0833 periods in a year.

Annualised cost of discount (%) is

(1 + 2.04%)6.0833 – 1 = 13.07% or 13%

	22.
	D
	Delaying payments to obtain a free source of finance would be a key aspect of a company’s accounts payable policy, not accounts receivable.

	23.
	A
	The current collection period is 4/20 x 365 = 73 days

Therefore a reduction to 60 days would be a reduction of 13 days

Hence 13/365 x $20m = $712,329

Finance cost saving = $712,329 x 0·12 = $85,479


Answer 7
(a)

Calculation of ratios:

	Stock days
	2006: (3,000/9,300) × 365 = 118 days

	
	2005: (1,300/6,600) × 365 = 72 days

	
	Sector average: 90 days

	
	

	Debtor days
	2006: (3,800/15,600) × 365 = 89 days

	
	2005: (1,850/11,100) × 365 days = 61 days

	
	Sector average: 60 days

	
	

	Creditor days
	2006: [2,870/(9,300 × 95%)] × 365 = 119 days

	
	2005: [1,600/(6,600 × 95%)] x 365 = 93 days

	
	Sector average: 80 days



[3 marks]
Comment:

In each case, the ratio in 2006 is higher than the ratio in 2005, indicating that deterioration has occurred in the management of stock, debtors and creditors in 2006.
Stock days have increased by 46 days or 64%, moving from below the sector average to 28 days – one month – more than it. Given the rapid increase in turnover (40%) in 2006, Anjo plc may be expecting a continuing increase in the future and may have built up stocks in preparation for this, i.e. stock levels reflect future sales rather than past sales. Accounting statements from several previous years and sales forecasts for the next period would help to clarify this point.
Debtor days have increased by 28 days or 46% in 2006 and are now 29 days above the sector average. It is possible that more generous credit terms have been offered in order to stimulate sales. The increased turnover does not appear to be due to offering lower prices, since both gross profit margin (40%) and net profit margin (34%) are unchanged.
In 2005, only management of creditors was a cause for concern, with Anjo plc taking 13 more days on average to settle liabilities with trade creditors than the sector. This has increased to 39 days more than the sector in 2006. This could lead to difficulties between the company and its suppliers if it is exceeding the credit periods they have specified. Anjo plc has no long-term debt and the statement of financial position indicates an increased reliance on short-term finance, since cash has reduced by $780,000 or 87% and the overdraft has increased by $850,000 to $1 million.
Perhaps the company should investigate whether it is undercapitalised (overtrading). It is unusual for a company of this size to have no long-term debt.

[3 marks]
(b)

Cash operating cycle (2005) = 72 + 61 – 93 = 40 days
[1 mark]
Cash operating cycle (2006) = 118 + 89 – 119 = 88 days
[1 mark]

The cash operating cycle or working capital cycle gives the average time it takes for the company to receive payment from debtors after it has paid its trade creditors. This represents the period of time for which debtors require financing. The cash operating cycle of Anjo plc has lengthened by 48 days in 2006 compared with 2005. This represents an increase in working capital requirement of approximately $15,600,000 x 48/365 = $2.05 million.

[2 mark]
(c)

Working capital and business solvency:

1.
The objectives of working capital management are liquidity and profitability, but there is a tension between these two objectives. Liquid funds, for example cash, earn no return and so will not increase profitability. Near-liquid funds, with short investment periods, earn a lower return than funds invested for a long period. Profitability is therefore decreased to the extent that liquid funds are needed.
2.
The main reason that companies fail, though, is because they run out of cash and so good cash management is an essential part of good working capital management. Business solvency cannot be maintained if working capital management in the form of cash management is of a poor standard.

[3 – 4 marks]
Factors influencing optimum cash level:

In order to balance the twin objectives of liquidity and profitability in terms of cash management, a company needs to decide on the optimum amount of cash to hold at any given time. There are several factors that can aid in determining the optimum cash balance.
1.
First, it is important to note that cash management is a forward-looking activity, in that the optimum cash balance must reflect the expected need for cash in the next budget period, for example in the next month. The cash budget will indicate expected cash receipts over the next period, expected payments that need to be made, and any shortfall that is expected to arise due to the difference between receipts and payments. This is the transactions need for cash, since it is based on the amount of cash needed to meet future business transactions.
2.
However, there may be a degree of uncertainty as to the timing of expected receipts. Debtors, for example, may not all pay on time and some may take extended credit, whether authorised or not. In order to guard against a possible shortfall of cash to meet future transactions, companies may keep a ‘buffer stock’ of cash by holding a cash reserve greater than called for by the transactions demand. This is the precautionary demand for cash and the optimum cash balance will reflect management’s assessment of this demand.
3.
Beyond this, a company may decide to hold additional cash in order to take advantage of any business opportunities that may arise, for example the possibility of taking over a rival company that has fallen on hard times. This is the speculative demand for cash and it may contribute to the optimum cash level for a given company, depending on that company’s strategic plan.

[4 – 5 marks]
(d)

	
	$000
	Marks

	Current debtors =
	3,800
	

	Debtors under factor = 3,800 × 0.7 =
	2,660
	

	Reduction in debtors =
	1,140
	[1]

	
	
	

	Finance cost saving = 1,140 × 0.08 =
	91.2
	[1]

	Administration cost saving = 1,000 × 0.02 =
	20.0
	[1]

	Interest on advance = 2,660 × 0.8 × 0.01
	(21.3)
	[2]

	Factor’s annual fee = 15,600 × 0.005 =
	(78.0)
	[1]

	Net benefit of accepting factor’s offer
	11.9
	[1]


Conclusion and discussion:

Although the terms of the factor’s offer are financially acceptable, suggesting a net financial benefit of $11,900, this benefit is small compared with annual turnover of $15.6 million. Other benefits, such as the application of the factor’s expertise to the debtor management of Anjo plc, might also be influential in the decision on whether to accept the offer.
[1 mark]
Answer 8

(a)

The cash operating cycle is the average length of time between paying trade payables and receiving cash from trade receivables. It is the sum of the average inventory holding period, the average production period and the average trade receivables credit period, less the average trade payables credit period. Using working capital ratios, the cash operating cycle is the sum of the inventory turnover period and the accounts receivable days, less the accounts payable days.
The relationship between the cash operating cycle and the level of investment in working capital is that an increase in the length of the cash operating cycle will increase the level of investment in working capital. The length of the cash operating cycle depends on working capital policy in relation to the level of investment in working capital, and on the nature of the business operations of a company.
Working capital policy

Companies with the same business operations may have different levels of investment in working capital as a result of adopting different working capital policies. An aggressive policy uses lower levels of inventory and trade receivables than a conservative policy, and so will lead to a shorter cash operating cycle. A conservative policy on the level of investment in working capital, in contrast, with higher levels of inventory and trade receivables, will lead to a longer cash operating cycle. The higher cost of the longer cash operating cycle will lead to a decrease in profitability while also decreasing risk, for example the risk of running out of inventory.
Nature of business operations

Companies with different business operations will have different cash operating cycles. There may be little need for inventory, for example, in a company supplying business services, while a company selling consumer goods may have very high levels of inventory. Some companies may operate primarily with cash sales, especially if they sell direct to the consumer, while other companies may have substantial levels of trade receivables as a result of offering trade credit to other companies.
(b)

Inventory days = 365 × 4,500/16,400 = 100 days
[1]
Trade receivables days = 365 × 3,500/21,300 = 60 days
[1]
Trade payables days = 365 × 3,000/16,400 = 67 days
[1]
Cash operating cycle = 100 + 60 – 67 = 93 days
[1]
(c)

Calculation of value of with-recourse offer
As the factor’s offer is with recourse, Bold Co will gain the benefit of bad debts reducing from 0·9% of turnover to 0·6% of turnover.
	
	$
	Marks

	Current trade receivables
	3,500,000
	

	Revised trade receivables (21,300,000 × 35/365)
	2,042,466
	[0.5]

	Reduction in trade receivables under factor
	1,457,534
	[0.5]

	
	
	

	Benefits:
	
	

	Finance cost saving (1,457,534 × 7%)
	102,027
	[1]

	Administration cost saving
	40,000
	[0.5]

	Bad debt saving [21,300,000 × (0.9% – 0.6%)]
	63,900
	[0.5]

	Total saving
	205,927
	

	
	
	

	Costs:
	
	

	Additional interest on advance (2,042,466 × 80% × 2%)
	32,680
	[1]

	With-recourse factoring fee (21,300,000 × 0.75%)
	159,750
	[0.5]

	Total costs
	192,430
	

	
	
	

	Net benefit
	13,497
	[0.5]


Calculation of value of non-recourse offer

As the offer is without recourse, the bad debts of Bold Co will reduce to zero, as these will be carried by the factor, and so the company will gain a further benefit of 0·6% of turnover.
	
	$
	Marks

	Net benefit before with-recourse factor fee
	172,247
	

	Non-recourse factor fee (21,300,000 × 1.25%)
	266,250
	[0.5]

	Net cost before adjusting for bad debts
	(93,003)
	

	Remaining bad debts eliminated (21,300,000 × 0.6%)
	127,800
	[1]

	Net benefits of non-recourse offer
	34,797
	[0.5]


(d)

The factor’s offer is financially acceptable on a with-recourse basis, giving a net benefit of $13,497. On a non-recourse basis, the factor’s offer is not financially acceptable, giving a net loss of $93,003, if the elimination of bad debts is ignored. The difference between the two factor fees ($106,500 or 0·5% of sales), which represents insurance against the risk of bad debts, is less than the remaining bad debts ($127,800 or 0·6% of sales), which will be eliminated under non-recourse factoring. When this elimination of bad debts is considered, the non-recourse offer from the factor is financially more attractive than the with-recourse offer.
There are a number of benefits of factoring that could be discussed, as follows.
The expertise of the factor

It is possible the factor can improve the efficiency of the receivables management of Bold Co due to its expertise in the areas of credit analysis, credit control and receivables collection. This would lead to a lower level of bad debts, as indicated by the factor’s offer.
Insurance against bad debts

Non-recourse factoring offers protection from bad debts, although the factor’s fee will include the cost of this insurance element, as indicated by the difference between the factor’s fees.
Factor finance

A factor will advance up to 80% of the value of invoices raised, allowing a company quicker access to cash from sales than would be possible if it had to wait for accounts receivable to be settled. Bold Co could pay trade payables promptly, perhaps benefiting from early settlement discounts.
Lower administration costs

Since administration of trade receivables would be taken over by the factor, administration costs of the company would decrease over time, although some incremental short-term costs, such as redundancy costs, might be incurred.
Answer 9
(a)

Cost of the current ordering policy

Order size = 10% of 160,000 = 16,000 units per order

Number of orders per year = 160,000/16,000 = 10 orders per year

Annual ordering cost = 10 x 400 = $4,000 per year
[1 mark]
Holding cost ignoring buffer inventory = 5·12 x (16,000/2) = $40,960 per year

Holding cost of buffer inventory = 5·12 x 5,000 = $25,600 per year
[1 mark]
Total cost of current policy = 4,000 + 40,960 + 25,600 = $70,560 per year
[1 mark]
Cost of the ordering policy using the EOQ model

Order size = (2 x 400 x 160,000/5·12)0·5 = 5,000 units per order

Number of orders per year = 160,000/5,000 = 32 orders per year
[1 mark]
Annual ordering cost = 32 x 400 = $12,800 per year

Holding cost ignoring buffer inventory = 5·12 x (5,000/2) = $12,800 per year

Holding cost of buffer inventory = 5·12 x 5,000 = $25,600 per year

Total cost of EOQ policy = 12,800 + 12,800 + 25,600 = $51,200 per year
[1 mark]
Change in costs of inventory management by using EOQ model

Decrease in costs = 70,560 – 51,200 = $19,360
[1 mark]
Examiner’s Note

Since the buffer inventory is the same in both scenarios, its holding costs do not need to be included in calculating the change in inventory management costs.
(b)

Concept of JIT

1.
Holding costs can be reduced by reducing the level of inventory held by a company. Holding costs can be reduced to a minimum if a company orders supplies only when it needs them, avoiding the need to have any inventory at all of inputs to the production process. This approach to inventory management is called just-in-time (JIT) procurement.
Benefits of JIT

2.
The benefits of a JIT procurement policy include a lower level of investment in working capital, since inventory levels have been minimized,

3.
a reduction in inventory holding costs; a reduction in materials handling costs, due to improved materials flow through the production process;
4.
an improved relationship with suppliers, since supplier and customer need to work closely together in order to make JIT procurement a success;
5.
improved operating efficiency, due to the need to streamline production methods in order to eliminate inventory between different stages of the production process; and
6.
lower reworking costs due to the increased emphasis on the quality of supplies, since hold-ups in production must be avoided when inventory between production stages has been eliminated.

[5 marks]
(c)

Evaluation of changes in receivables management

The current level of receivables days = (18/87·6) x 365 = 75 days

Since 25% of credit customers will take the discount, 75% will not be doing so.

The revised level of receivables days = (0·25 x 30) + (0·75 x 60) = 52·5 days
Current level of trade receivables = $18m

Revised level of trade receivables = 87·6 x (52·5/365) = $12·6m

Reduction level of trade receivables = 18 – 12·6 = $5·4m
[2 marks]
Cost of short-term finance = 5·5%

Reduction in financing cost = 5·4m x 0·055 = $297,000
[1 mark]
Administration and operating cost savings = $753,000

Total benefits = 297,000 + 753,000 = $1,050,000
Cost of early settlement discount = 87·6m x 0·25 x 0·01 = $219,000
[1 mark]
Net benefit of early settlement discount = 1,050,000 – 219,000 = $831,000
The proposed changes in receivables management are therefore financially acceptable, although they depend heavily on the forecast savings in administration and operating costs.

[1 mark]
Maximum early settlement discount

Comparing the total benefits of $1,050,000 with 25% of annual credit sales of $87,600,000, which is $21,900,000, the maximum early settlement discount that could be offered is 4·8% (100 x (1·050/21·9)).
[1 mark]
(d)

Factors that should be considered when formulating working capital policy on the management of trade receivables include the following:
The level of investment in trade receivables

If the amount of finance tied up in trade receivables is substantial, receivables management policy may be formulated with the intention of reducing the level of investment by tighter control over the way in which credit is granted and improved methods of assessing client creditworthiness.
The cost of financing trade credit

If the cost of financing trade credit is high, there will be pressure to reduce the amount of credit offered and to reduce the period for which credit is offered.
The terms of trade offered by competitors

In order to compete effectively, a company will need to match the terms offered by its competitors, otherwise customers will migrate to competitors, unless there are other factors that will encourage them to be loyal, such as better quality products or a more valuable after-sales service.
The level of risk acceptable to the company

Some companies may feel that more relaxed trade credit terms will increase the volume of business to an extent that compensates for a higher risk of bad debts. The level of risk of bad debts that is acceptable will vary from company to company. Some companies may seek to reduce this risk through a policy of insuring against non-payment by clients.
The need for liquidity

Where the need for liquidity is relatively high, a company may choose to accelerate cash inflow from credit customers by using invoice discounting or by factoring.
The expertise available within the company

Where expertise in the assessment of creditworthiness and the monitoring of customer accounts is not to a sufficiently high standard, a company may choose to outsource its receivables management to a third party, i.e. a factor.
III.
Accounts payable

	24.
	D
	Cost of discount = 3/(100 – 3) x 365/30 = 37.6%
Option A uses the formula: = 3/(100 – 3) x 100/30 = 10.3%
Option B uses the formula: = 3/100 x 365/40 = 27.4%
Option C uses the formula: = 3/(100 – 3) x 365/40 = 28.2%

	25.
	B
	EOQ = √(2 x 9,600 x 5)/60

= 40 units

Annual costs ignoring discount:

(9,600 x $50) + (40/2 x $60) + (9,600/40 x $5) = $482,400

Annual cost with discount:

(9,600 x $48) + (80/2 x $60) + (9,600/80 x $5) = $463,800

	26.
	D
	D relates to receivables, not payables.


Answer 10
(a)

Working capital policies can cover the level of investment in current assets, the way in which current assets are financed, and the procedures to follow in managing elements of working capital such as inventory, trade receivables, cash and trade payables. The twin objectives of working capital management are liquidity and profitability, and working capital policies support the achievement of these objectives. There are several factors that influence the formulation of working capital policies, as follows.
Nature of the business

The nature of the business influences the formulation of working capital policy because it influences the size of the elements of working capital. A manufacturing company, for example, may have high levels of inventory and trade receivables, a service company may have low levels of inventory and high levels of trade receivables, and a supermarket chain may have high levels of inventory and low levels of trade receivables.

[1 – 2 marks]
The operating cycle

The length of the operating cycle, together with the desired level of investment in current assets, will determine the amount of working capital finance needed. Working capital policies will therefore be formulated so as to optimise as much as possible the length of the operating cycle and its components, which are the inventory conversion period, the receivables conversion period and payables deferral period.
[1 – 2 marks]
Terms of trade

Since a company must compete with other companies to be successful, a key factor in the formulation of working capital policy will be the terms of trade offered by competitors. The terms of trade must be comparable with those of competitors and the level of receivables will be determined by the credit period offered and the average credit period taken by customers.

[1 – 2 marks]
Risk appetite of company

A risk-averse company will tend to operate with higher levels of inventory and receivables than a company which is more risk-seeking.
Similarly, a risk-averse company will seek to use long-term finance for permanent current assets and some of its fluctuating current assets (conservative policy), while a more risk-seeking company will seek to use short-term finance for fluctuating current assets as well as for a portion of the permanent current assets of the company (an aggressive policy).

[1 – 2 marks]
(b)(i)

Early settlement discount

Annual cost of components = 120,000 x 7·50 = $900,000 per year

Value of discount offered = 900,000 x 0·005 = $4,500
[1 mark]
Current level of payables = 900,000 x 90/365 = $221,918

Revised level of payables = 900,000 x 30/365 = $73,973

(Alternatively, 221,918 x 1/3 = $73,973)

Reduction in payables = 221,918 – 73,973 = $147,945

(Alternatively, 221,918 x 2/3 = $147,945, or 900,000 x 60/365 = $147,945)

Annual cost of borrowing = 4·5% per year

Increase in financing cost by taking discount = 147,945 x 0·045 = $6,657
[1 mark]
Since the increase in financing cost is $2,157 greater than the discount offered, ZPS Co will not benefit financially by taking the early settlement discount.
[1 mark]
(b)(ii)

Bulk purchase discount

Current number of orders = 120,000/10,000 = 12 orders

Current ordering cost = 12 x 200 = $2,400 per year

Current holding cost = (10,000/2) x 1 = $5,000 per year

Annual cost of components = $900,000 per year

Inventory cost under current policy = 900,000 + 2,400 + 5,000 = $907,400 per year
[1 mark]
To gain the bulk purchase discount, the order size must increase to 30,000 components

The number of orders will decrease to 120,000/30,000 = 4 orders per year

The revised ordering cost will be 4 x 200 = $800 per year
[0.5 mark]
The revised holding cost will be (30,000/2) x 2·2 = $33,000 per year
[0.5 mark]
The annual cost of components will be 120,000 x 7·50 x 0·964 = $867,600 per year

Inventory cost using discount = 867,600 + 800 + 33,000 = $901,400 per year
[1 mark]
ZPS Co will benefit financially if it takes the bulk discount offered by the supplier, as it saves $6,000 per year in inventory costs or 0·66% of current inventory costs.
[1 mark]
IV.
Foreign trades management

	27.
	D
	Open account is an agreement to settle the amount outstanding on a predetermined date. Open account reflects a good business relationship between importer and exporter. It carries the highest risk of non-payment and so it is not a method to reduce the credit risk of foreign trade.


Answer 11
Problems of credit granted to foreign customers:

When credit is granted to foreign customers, two problems may become especially significant.
1.
First, the longer distances over which trade takes place and the more complex nature of trade transactions and their elements means foreign accounts receivable need more investment than their domestic counterparts. Longer transaction times increase accounts receivable balances and hence the level of financing and financing costs.
2.
Second, the risk of bad debts is higher with foreign accounts receivable than with their domestic counterparts. In order to manage and reduce credit risks, therefore, exporters seek to reduce the risk of bad debt and to reduce the level of investment in foreign accounts receivable.

[1 – 2 marks]
Many foreign transactions are on ‘open account’, which is an agreement to settle the amount outstanding on a predetermined date. Open account reflects a good business relationship between importer and exporter. It also carries the highest risk of non-payment.
How to manage and reduce?

1.
One way to reduce investment in foreign accounts receivable is to agree early payment with an importer, for example by payment in advance, payment on shipment, or cash on delivery. These terms of trade are unlikely to be competitive, however, and it is more likely that an exporter will seek to receive cash in advance of payment being made by the customer.
2.
One way to accelerate cash receipts is to use bill finance. Bills of exchange with a signed agreement to pay the exporter on an agreed future date, supported by a documentary letter of credit, can be discounted by a bank to give immediate funds. This discounting is without recourse if bills of exchange have been countersigned by the importer’s bank.
Documentary letters of credit are a payment guarantee backed by one or more banks. They carry almost no risk, provided the exporter complies with the terms and conditions contained in the letter of credit. The exporter must present the documents stated in the letter, such as bills of lading, shipping documents, bills of exchange, and so on, when seeking payment. As each supporting document relates to a key aspect of the overall transaction, letters of credit give security to the importer as well as the exporter.
3.
Companies can also manage and reduce risk by gathering appropriate information with which to assess the creditworthiness of new customers, such as bank references and credit reports.
4.
Insurance can also be used to cover some of the risks associated with giving credit to foreign customers. This would avoid the cost of seeking to recover cash due from foreign accounts receivable through a foreign legal system, where the exporter could be at a disadvantage due to a lack of local or specialist knowledge.
5.
Export factoring can also be considered, where the exporter pays for the specialist expertise of the factor as a way of reducing investment in foreign accounts receivable and reducing the incidence of bad debts.

[6 – 7 marks]

Chapter 10 Cash and Funding Strategies
I.
Reasons for holding cash

	1.
	A
	


II.
Cash budget and cash flow forecast

	2.
	A
	Receipts for March:

$

50% March sales for cash (50% × $150,000)

75,000

80% × February credit sales less 4% discount

(50% × 80% × $501,500 × 96%)

192,576

15% × January credit sales (50% × 15% × $300,100)
22,508
290,084



	3.
	A
	


Answer 12
(a)

Analysis of current assets:

1.
When considering the financing of working capital, it is useful to divide current assets into fluctuating current assets and permanent current assets.
2.
Fluctuating current assets represent changes in the level of current assets due to the unpredictability of business activity.
3.
Permanent current assets represent the core level of investment in current assets needed to support a given level of turnover or business activity.
4.
As turnover or level of business activity increases, the level of permanent current assets will also increase. This relationship can be measured by the ratio of turnover to net current assets.

[1 – 2 marks]

Short-term and long-term finance:
The financing choice as far as working capital is concerned is between short-term and long-term finance.
1.
Short-term finance is more flexible than long-term finance: an overdraft, for example, is used by a business organisation as the need arises and variable interest is charged on the outstanding balance.
2.
Short-term finance is also more risky than long-term finance: an overdraft facility may be withdrawn, or a short-term loan may be renewed on less favourable terms. In terms of cost, the term structure of interest rates suggests that short-term debt finance has a lower cost than long-term debt finance.

[2 – 3 marks]

Matching principle:
1.
The matching principle suggests that long-term finance should be used for long-term investment. Applying this principle to working capital financing, long-term finance should be matched with permanent current assets and non-current assets.
2.
A financing policy with this objective is called a ‘matching policy’. HGR Co is not using this financing policy, since of the $16,935,000 of current assets, $14,000,000 or 83% is financed from short-term sources (overdraft and trade payables) and only $2,935,000 or 17% is financed from a long-term source, in this case equity finance (shareholders’ funds) or traded bonds.

[1 – 2 marks]

Financing approach used by company:
1.
The financing policy or approach taken by HGR Co towards the financing of working capital, where short-term finance is preferred, is called an aggressive policy.
2.
Reliance on short-term finance makes this riskier than a matching approach, but also more profitable due to the lower cost of short-term finance. Following an aggressive approach to financing can lead to overtrading (undercapitalisation) and the possibility of liquidity problems.

[1 – 2 marks]
(b)

Bank balance in three months’ time if no action is taken:
[image: image4.emf]

[2 marks]
Bank balance in three months’ time if the finance director’s proposals are implemented:
[image: image5.emf]

[5 marks]
Workings:

Reduction in accounts receivable days

Current accounts receivable days = (8,775/49,275) x 365 = 65 days

Reduction in days over six months = 65 – 53 = 12 days

Monthly reduction = 12/6 = 2 days

Each receivables day is equivalent to 8,775,000/65 =$135,000

(Alternatively, each receivables day is equivalent to 49,275,000/365 =$135,000)

Monthly reduction in accounts receivable = 2 x 135,000 = $270,000
Reduction in inventory days

Current inventory days = (8,160/37,230) x 365 = 80 days

Each inventory day is equivalent to 8,160,000/80 = $102,000

(Alternatively, each inventory day = 37,230,000/365 = $102,000)

Monthly reduction in inventory = 102,000 x 2 = $204,000
Overdraft interest calculations

Monthly overdraft interest rate = 1·06171/12 = 1·005 or 0·5%
If no action is taken:
Period 1 interest = 3,800,000 x 0·005 = $19,000

Period 2 interest = 3,549,000 x 0·005 = $17,745 or $18,000

Period 3 interest = 3,517,000 x 0·005 = $17,585 or $18,000
If action is taken:
Period 1 interest = 3,800,000 x 0.005 = $19,000

Period 2 interest = 3,075,000 x 0.005 = $15,375 or $15,000

Period 3 interest = 2,566,000 x 0.005 = $12,830 or $13,000
Discussion
Working capital management implication:
1.
If no action is taken, the cash flow forecast shows that HGR Co will exceed its overdraft limit of $4 million by $1·48 million in three months’ time.
2.
If the finance director’s proposals are implemented, there is a positive effect on the bank balance, but the overdraft limit is still exceeded in three months’ time, although only by $47,000 rather than by $1·47 million.
3.
In each of the three months following that, the continuing reduction in accounts receivable days will improve the bank balance by $270,000 per month. Without further information on operating receipts and payments, it cannot be forecast whether the bank balance will return to less than the limit, or even continue to improve.
4.
The main reason for the problem with the bank balance is the $2 million capital expenditure. Purchase of non-current assets should not be financed by an overdraft, but a long-term source of finance such as equity or bonds. If the capital expenditure were removed from the area of working capital management, the overdraft balance at the end of three months would be $3·48 million if no action were taken and $2·05 million if the finance director’s proposals were implemented. Given that HGR Co has almost $50 million of non-current assets that could possibly be used as security, raising long-term debt through either a bank loan or a bond issue appears to be sensible. Assuming a bond interest rate of 10% per year, current long-term debt in the form of traded bonds is approximately ($200m x 2)/0·1 = $4m, which is much less than the amount of noncurrent assets.

[1 – 2 marks]

Advice on course of action
A suitable course of action for HGR Co to follow would therefore be:

1.
Firstly, to implement the finance director’s proposals and
2.
Secondly, to finance the capital expenditure from a long-term source. Consideration could also be given to using some long-term debt finance to reduce the overdraft and to reduce the level of accounts payable, currently standing at 100 days.

[1 – 2 marks]
Answer 13
(a)

Forecast income statement:

	
	$m
	Marks

	Turnover = 16.00m x 1.084
	17.344
	

	Cost of sales = 17.344m – 5.203m
	12.141
	

	Gross profit = 17.344m x 30%
	5.203
	[1]

	Other expenses = 5.203m – 3.469m
	1.734
	

	Net profit = 17.344m x 20%
	3.469
	[1]

	Interest = (10m x 0.08) + 0.14m
	0.940
	

	Profit before tax
	2.529
	[1]

	Tax = 2.529m x 0.3
	0.759
	

	Profit after tax
	1.770
	

	Dividends = 1.770m x 50%
	0.885
	

	Retained profit
	0.885
	[1]


Forecast statement of financial position:

	
	$m
	$m
	Marks

	Non-current assets
	
	22.00
	

	Current assets
	
	
	

	Inventory
	3.66
	
	[1]

	Trade receivables
	3.09
	
	[1]

	
	
	6.75
	

	Total assets
	
	28.75
	

	Equity and liabilities:
	
	
	

	Equity
	
	
	

	Ordinary shares
	5.00
	
	

	Reserves
	8.39
	
	[1]

	
	
	13.39
	

	Non-current liabilities
	
	
	

	Bank loan
	
	10.00
	

	
	
	
	

	Current liabilities
	
	
	

	Trade payables
	2.49
	
	[1]

	Overdraft
	2.87
	
	[1]

	
	
	5.36
	

	Total equity and liabilities
	
	28.75
	


(Layout and format – [1 mark])
Workings

Inventory = 12·141m x (110/365) = $3·66m

Trade receivables = 17·344m x (65/365) = $3·09m

Trade payables = 12·141m x (75/365) = $2·49m

Reserves = 7·5m + 0·885m = $8·39m

Overdraft = 28·75m – 23·39m – 2·49 = $2·87m (balancing figure)
(b)

Working capital financing policies:

1.
Working capital financing policies can be classified into conservative, moderate (or matching) and aggressive, depending on the extent to which fluctuating current assets and permanent current assets are financed by short-term sources of finance. Permanent current assets are the core level of investment in current assets needed to support a given level of business activity or turnover, while fluctuating current assets are the changes in the levels of current assets arising from the unpredictable nature of some aspects of business activity.
2.
A conservative working capital financing policy uses long-term funds to finance non-current assets and permanent current assets, as well as a proportion of fluctuating current assets. This policy is less risky and less profitable.

3.
An aggressive working capital financing policy uses short-term funds to finance fluctuating current assets and a proportion of permanent current assets as well.
4.
Between these two extremes lies the moderate (or matching) policy, which uses long-term funds to finance long-term assets (non-current assets and permanent current assets) and short-term funds to finance short-term assets (fluctuating current assets)

[2 – 3 marks]

Financial analysis:
1.
The current statement of financial position shows that APX Co uses trade payables and an overdraft as sources of short-term finance. In terms of the balance between short- and long-term finance, 89% of current assets (100 x 4·1/4·6) are financed from short-term sources and only 11% are financed from long-term sources. Since a high proportion of current assets are permanent in nature, this appears to be a very aggressive working capital financing policy which carries significant risk. If the overdraft were called in, for example, APX Co might have to turn to more expensive short-term financing.

[1 – 2 marks]

2.
The forecast statement of financial position shows a lower reliance on short-term finance, since 79% of current assets (100 x 5·36/6·75) are financed from short-term sources and 21% are financed from long-term sources. This decreased reliance on an aggressive financing policy is sensible, although with a forecast interest coverage ratio of only 3·7 times (3·469/0·94), APX Co has little scope for taking on more long-term debt. An increase in equity funding to decrease reliance on short-term finance could be considered.

[2 – 3 marks]
(c)

Working capital management

1.
Financial analysis shows deterioration in key working capital ratios.
a.
The inventory turnover period is expected to increase from 81 days to 110 days,
b.
the trade receivables period is expected to increase from 50 days to 65 days
c.
and the trade payables period is expected to increase from 64 days to 75 days.
d.
It is also a cause for concern here that the values of these working capital ratios for the next year are forecast, i.e. APX Co appears to be anticipating a worsening in its working capital position. The current and forecast values could be compared to average or sector values in order to confirm whether this is in fact the case.
2.
Because current assets are expected to increase by more than current liabilities,
a.
the current ratio and the quick ratio are both expected to increase in the next year, the current ratio from 1·12 times to 1·26 times and the quick ratio from 0·54 times to 0·58 times.
b.
Again, comparison with sector average values for these ratios would be useful in making an assessment of the working capital management of APX Co.
c.
The balance between trade payables and overdraft finance is approximately the same in both years (trade payables are 46% of current liabilities in the current statement of financial position and 47% of current liabilities in the forecast statement of financial position), although reliance on short-term finance is expected to fall slightly in the next year.
3.
The deteriorating working capital position may be linked to an expected deterioration in the overall financial performance of APX Co. For example, the forecast gross profit margin (30%) and net profit margin (20%) are both less than the current values of these ratios (32% and 23% respectively), and despite the increase in turnover, return on capital employed (ROCE) is expected to fall from 16·35% to 14·83%.

[3 – 4 marks]
Analysis

Extracts from current income statement:
[image: image6.emf]
[image: image7.emf]

[2 – 4 marks]
III.
Treasury management

	4.
	C
	

	5.
	D
	Local operating units (decentalised treasury function) should have a better feel for local conditions than head office and can respond more quickly to local developments. This is an advantage of decentralization.


Answer 14
Banking. The treasurer is responsible for managing the business’s relationships with banks. This is an integral part of the three other functions identified below
Liquidity management. This involves working capital and money management. The treasurer will need to ensure that the business has the liquid funds it needs, and that it invests surplus money.
Funding management. This is concerned with identifying suitable sources of funds. It requires knowledge of the sources that are available, the cost of those sources, whether any security is required and how to manage interest rate risks.
Currency management. The treasurer is responsible for providing the business with forecasts of exchange rate movements, which in turn determines the procedures that will be used to manage exchange rate risk.
IV.
Cash management models

	6.
	A
	

	7.
	C
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	8.
	D
	Miller Orr defines the difference between the upper limit and lower limit as the ‘spread’.

TB Co’s spread is $10m – $1m = $9m.

Miller Orr also defines the return point as the lower limit plus a third of the spread. In this case: 1 + [(1/3) × 9] = $4m

When the upper limit is reached, sufficient securities are purchased to reduce the cash balance back to the return point. In this case $10m – $4m = $6m. Therefore statement 1 is correct.

When the lower limit is reached, sufficient securities are sold to increase the cash balance back up to the return point. In this case $4m – $1 = $3m. Therefore statement 2 is correct.
An increase in variance will therefore increase the spread. Therefore statement 3 is correct.


V.
Strategies for Funding Working Capital

	9.
	A
	Aggressive working capital finance means using more short-term finance (and less long-term). Short-term finance is cheaper but it is risky – it may not be renewed when required and finance rates may change when they are renewed. C describes a conservative financing policy. D is describing a more aggressive working capital investment policy (not finance).

	10.
	A
	Rate risk refers to the fact that when short-term finance is renewed, the rates may vary when compared to the previous rate. This risk is less with long-term finance as it is renewed less frequently.
Renewal risk refers to the fact that finance providers may not renew the source of finance when it matures. This risk will be more acute with short-term finance as it needs renewing more often.
Short-term finance tends to be more flexible than long-term finance (eg overdraft, or supplier credit) so C and D are incorrect. Maturity mismatch is not a risk specifically related to short-term finance so D is incorrect.

	11.
	B
	


Answer 15

Working capital investment policy is concerned with the level of investment in current assets, with one company being compared with another. Working capital financing policy is concerned with the relative proportions of short-term and long-term finance used by a company. While working capital investment policy is therefore assessed on an inter-company comparative basis, assessment of working capital financing policy involves analysis of financial information for one company alone.
Working capital financing policy uses an analysis of current assets into permanent current assets and fluctuating current assets. Working capital investment policy does not require this analysis. Permanent current assets represent the core level of investment in current assets that supports a given level of business activity. Fluctuating current assets represent the changes in the level of current assets that arise through, for example, the unpredictability of business operations, such as the level of trade receivables increasing due to some customers paying late or the level of inventory increasing due to demand being less than predicted.
Working capital financing policy relies on the matching principle, which is not used by working capital investment policy. The matching principle holds that long-term assets should be financed from a long-term source of finance. Non-current assets and permanent current assets should therefore be financed from a long-term source, such as equity finance or bond finance, while fluctuating current assets should be financed from a short-term source, such as an overdraft or a short-term bank loan.
Both working capital investment policy and working capital financing policy use the terms conservative, moderate and aggressive. In investment policy, the terms are used to indicate the comparative level of investment in current assets on an inter-company basis. One company has a more aggressive approach compared to another company if it has a lower level of investment in current assets, and vice versa for a conservative approach to working capital investment policy. In working capital financing policy, the terms are used to indicate the way in which fluctuating current assets and permanent current assets are matched to short-term and long-term finance sources.
An aggressive financing policy means that fluctuating current assets and a portion of permanent current assets are financed from a short-term finance source. A conservative financing policy means that permanent current assets and a portion of fluctuating current assets are financed from a long-term source. An aggressive financing policy will be more profitable than a conservative financing policy because short-term finance is cheaper than long-term finance, as indicated for debt finance by the normal yield curve (term structure of interest rates). However, an aggressive financing policy will be riskier than a conservative financing policy because short-term finance is riskier than long-term finance. For example, an overdraft is repayable on demand, while a short-term loan may be renewed on less favourable terms than an existing loan. Provided interest payments are made, however, long-term debt will not lead to any pressure on a company and equity finance is permanent capital.
Overall, therefore, it can be said that while working capital investment policy and working capital financing policy use similar terminology, the two policies are very different in terms of their meaning and application. It is even possible, for example, for a company to have a conservative working capital investment policy while following an aggressive working capital financing policy.
Additional Examination Style Questions
Answer 16
(a)

Working capital policies can cover the level of investment in current assets, the way in which current assets are financed, and the procedures to follow in managing elements of working capital such as inventory, trade receivables, cash and trade payables. The twin objectives of working capital management are liquidity and profitability, and working capital policies support the achievement of these objectives. There are several factors which influence the formulation of working capital policies as follows:
Nature of the business

The nature of the business influences the formulation of working capital policy because it influences the size of the elements of working capital. A manufacturing company, for example, may have high levels of inventory and trade receivables, a service company may have low levels of inventory and high levels of trade receivables, and a supermarket chain may have high levels of inventory and low levels of trade receivables.
The operating cycle

The length of the operating cycle, together with the desired level of investment in current assets, will determine the amount of working capital finance needed. Working capital policies will therefore be formulated so as to optimise as much as possible the length of the operating cycle and its components, which are the inventory conversion period, the receivables conversion period and payables deferral period.
Terms of trade

Since a company must compete with other companies to be successful, a key factor in the formulation of working capital policy will be the terms of trade offered by competitors. The terms of trade must be comparable with those of competitors and the level of receivables will be determined by the credit period offered and the average credit period taken by customers.
Risk appetite of company

A risk-averse company will tend to operate with higher levels of inventory and receivables than a company which is more risk-seeking.
Similarly, a risk-averse company will seek to use long-term finance for permanent current assets and some of its fluctuating current assets (conservative policy), while a more risk-seeking company will seek to use short-term finance for fluctuating current assets as well as for a portion of the permanent current assets of the company (an aggressive policy).
(b)

Bulk purchase discount

Current number of orders = 120,000/10,000 = 12 orders

Current ordering cost = 12 x 200 = $2,400 per year

Current holding cost = (10,000/2) x 1 = $5,000 per year

Annual cost of components = $900,000 per year

Inventory cost under current policy = 900,000 + 2,400 + 5,000 = $907,400 per year

To gain the bulk purchase discount, the order size must increase to 30,000 components.

The number of orders will decrease to 120,000/30,000 = 4 orders per year

The revised ordering cost will be 4 x 200 = $800 per year

The revised holding cost will be (30,000/2) x 2·2 = $33,000 per year

The annual cost of components will be 120,000 x 7·50 x 0·964 = $867,600 per year

Inventory cost using discount = 867,600 + 800 + 33,000 = $901,400 per year

Cat Co will benefit financially if it takes the bulk discount offered by the supplier, as it saves $6,000 per year in inventory costs or 0·66% of current inventory costs.
Answer 16
(a)

There are a number of factors that determine the level of investment in current assets and their relative importance varies from company to company.
Length of working capital cycle

1.
The working capital cycle or operating cycle is the period of time between when a company settles its accounts payable and when it receives cash from its accounts receivable.
2.
Operating activities during this period need to be financed and as the operating period lengthens, the amount of finance needed increases. Companies with comparatively longer operating cycles than others in the same industry sector, will therefore require comparatively higher levels of investment in current assets.

[1 – 2 marks]
Terms of trade

3.
These determine the period of credit extended to customers, any discounts offered for early settlement or bulk purchases, and any penalties for late payment. A company whose terms of trade are more generous than another company in the same industry sector will therefore need a comparatively higher investment in current assets.

[1 mark]
Policy on level of investment in current assets

4.
Even within the same industry sector, companies will have different policies regarding the level of investment in current assets, depending on their attitude to risk. A company with a comparatively conservative approach to the level of investment in current assets would maintain higher levels of inventory, offer more generous credit terms and have higher levels of cash in reserve than a company with a comparatively aggressive approach.
5.
While the more aggressive approach would be more profitable because of the lower level of investment in current assets, it would also be more risky, for example in terms of running out of inventory in periods of fluctuating demand, of failing to have the particular goods required by a customer, of failing to retain customers who migrate to more generous credit terms elsewhere, and of being less able to meet unexpected demands for payment.

[2 marks]
Industry in which organisation operates

6.
Another factor that influences the level of investment in current assets is the industry within which an organisation operates. Some industries, such as aircraft construction, will have long operating cycles due to the length of time needed to manufacture finished goods and so will have comparatively higher levels of investment in current assets than industries such as supermarket chains, where goods are bought in for resale with minimal additional processing and where many goods have short shelf-lives.

[1 – 2 marks]
(b)

Discussion of factoring:

1.
Factoring involves a company turning over administration of its sales ledger to a factor, which is a financial institution with expertise in this area. The factor will assess the creditworthiness of new customers, record sales, send out statements and reminders, collect payment, identify late payers and chase them for settlement, and take appropriate legal action to recover debts where necessary.
2.
The factor will also offer finance to a company based on invoices raised for goods sold or services provided. This is usually up to 80% of the face value of invoices raised. The finance is repaid from the settled invoices, with the balance being passed to the issuing company after deduction of a fee equivalent to an interest charge on cash advanced.
3.
If factoring is without recourse, the factor rather than the company will carry the cost of any bad debts that arise on overdue accounts. Factoring without recourse therefore offers credit protection to the selling company, although the factor’s fee (a percentage of credit sales) will be comparatively higher than with non-recourse factoring to reflect the cost of the insurance offered.

[4 – 5 marks]
Discussion of invoice discounting:

4.
Invoice discounting is a way of raising finance against the security of invoices raised, rather than employing the credit management and administration services of a factor. A number of good quality invoices may be discounted, rather than all invoices, and the service is usually only offered to companies meeting a minimum turnover criterion.

[1 – 2 marks]
(c)

Calculation of size of overdraft

Inventory period = operating cycle + payables period – receivables period = 3 + 1 – 2 = 2 months

Inventory = 1·89m x 2/12 = $315,000
[1 mark]
Accounts receivable = 4·2m x 2/12 = $700,000
[0.5 mark]
Current assets = 315,000 + 700,000 = $1,015,000

Current liabilities = current assets/current ratio = 1,015,000/1·4 = $725,000
[1 mark]
Accounts payable = 1·89m x 1/12 = $157,500
[0.5 mark]
Overdraft = 725,000 – 157,500 = $567,500
[1 mark]
Net working capital = current assets – current liabilities = 1,015,000 – 725,000 = $290,000

[1 mark]
Short-term financing cost = 567,500 x 0·07 = $39,725

Long-term financing cost = 290,000 x 0·11 = $31,900

Total cost of financing current assets = 39,725 + 31,900 = $71,625 
[1 mark]
(d)(i)

Economic order quantity = (2 x 6 x 60,000/0·5)0·5 = 1,200 units 
[1 mark]
Number of orders = 60,000/1,200 = 50 order per year

Annual ordering cost = 50 x 6 = $300 per year 
[0.5 mark]
Average inventory = 1,200/2 = 600 units

Annual holding cost = 600 x 0·5 = $300 per year
[0.5 mark]
Inventory cost = 60,000 x 12 = $720,000
[1 mark]
Total cost of inventory with EOQ policy = 720,000 + 300 + 300 = $720,600 per year

[1 mark]
(d)(ii)

Order size for bulk discounts = 10,000 units

Number of orders = 60,000/10,000 = 6 orders per year

Annual ordering cost = 6 x 6 = $36 per year
[0.5 mark]
Average inventory = 10,000/2 =5,000 units

Annual holding cost = 5,000 x 2 = $10,000 per year
[0.5 mark]
Discounted material cost =12 x 0·99 = $11·88 per unit

Inventory cost = 60,000 x 11·88 = $712,800
[1 mark]
Total cost of inventory with discount = 712,800 + 36 + 10,000 = $722,836 per year


[1 mark]
The EOQ approach results in a slightly lower total inventory cost.
[1 mark]
(Maximum 3 marks)
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